This .pdf document is bookmarked

Operating Instructions and Parts Manual
2HP Mobile Cyclone Dust Collector

Model JCDC-2

JET

427 New Sanford Road
LaVergne, Tennessee 37086
Ph.: 800-274-6848
www.jettools.com

Part No. M-717520
Edition 4 09/2018
Copyright © 2017 JET


Tom Gauger
This .pdf document is bookmarked


11.1.1 JCDC-2 Cyclone Dust Collector — Exploded View

00 ,,
Sosaets
) [o3395es 0 0
ol R vooo%nono 0“0000000“0000
RIS
LRRRRRRRRRRKIR]
RIS /

64

65

15



11.1.2 JCDC-2 Cyclone Dust Collector — Parts List

Index No Part No Description Size Qty
1o, JCDC2-01 ..., 1Y o] (o ORISR 2HP, 230V ..o 1
.................. JCDC1.5-01SC. ......... Start Capacitor (not shown).................eccvvvveeeeeee... 300MFD, 125VAC......... 1
.................. JCDC1.5-01RC.......... Running Capacitor (not shown)..............ccccceeeeeeenn. 30UF, 250V ... L
.................. JCDC1.5-01FC.......... Fan Cover (NOt SNOWN) ....c..ooiiiiiiiiiiiiee it iveeeeeeessssiiieeeeee s s ssvneeeees L
.................. JCDC1.5-01CF.......... Cooling Fan (N0t ShOWN) .........cccuuiiiiieiiiiiiiiccee i viiere e e s sssiieeeeee e e ssiineens L
.................. JCDC2-01CS ............ Centrifugal Switch (N0t SNOWN) .......cccooviiiiiiiiiiiit e L
2 i, JCDC1.5-02 .............. Strain Relief ... M20-13B/PG20............. 3
3 TS-0570021 .............. HEX NUL. ..o B5I16". i 4
4o, TS-0720081 .............. LOCK WaSher........uuvvvieiiiiiiiiiiicc e BI16” i 4
5, JCDC2-05 ......ccvuveeen. MOLOr COFA....oeieiiiiiieiiree et 14AWG X 3C....ovveeeneee. 1
I JCDC2-06 .....ovvvveennnns KBY ittt TXTX25 i 1
T o, JCDC2-07 ...oevevereen. RUDDEI S@AI....... i e 1
S T JCDC1.5-07 .............. Hex Flange Head SCrew........cccccovcvvvveeeeeeeecciiiieennn. 5/16" X 3/4”....uvvvvee. 18
9 e JCDC1.5-08 .............. EYE BOIt ..o 5/16”. . 2
10 ... JCDC2-10 ..........o...... MOLOT PIALE ... ittt e e s oorrr e e e e e e e s brrareeeeeeennnnes 1
1. TS-0051051 .............. HEX Cap SCreW........vvveieiiiiieiiieieeieeeeeeeeeeeeeeeeeeeeeeeeeeees 5/16" X 1" oo 4
12 e JCDC2-12 .....cccvvee. IMPEIIET ..o Dia. 14-1/2" ......coveeennnee. 1
13, TS-0271071 .............. SOCKEL SEL SCrEW ..vvvvveeeeeeiiiiiiiie e 38" X 34", 1
14 .. JCDC1.5-14 .............. LOCK WASNET.......oeiiiiiiiicc e Exclusive........c.cccoonneen. 1
15 . JCDC1.5-15 .............. Socket Head Cap Screw (Left Thread).................... MB X 20 ...ccviieereeeeriiinnn, 1
16 ... JCDC2-16 ..o INEAKE BAITEI ... e 1
17 . 5513357 .o, Mach Screw, Pan HD, PhillipS..........cccccovuvvvineeeennn. 3/16" X 3/8" oo 17
18A............ JCDC1.5-18A............ Inlet Adaptor Assembly (includes #18 thru 20)........ 6" X (2)4" .o, 1
18 .. JCDC1.5-18 .............. [0 L= X0 F= T o) (o] SRR 6"X (24" .o 1
19 i, JCDC1.5-20 .............. Inlet Adaptor Cap........cccvveeeeeiiiiiiiiiiee e A7 i 1
20 e, JCDC1.5-19............... (03 0= V1 o IO SRRSO 1
21 i, JCDC2-21 ....ooveee. Switch Assembly (Index # 21-1 thru # 21-9).....coccit voviiieiieee e, 1
21-1........... JCDC2-21-1 .............. SWItCh BOX — LOWET COVE....eiiiiiiiiiiiiiieeeeeeiiiiiieeees cosatieeeeeessssssnseeeessasssnnnnns 1
21-2..... JCDC2-21-2.............. SWItCh BOX — UPPEE COVET....cvviiiiieiiiiiiiiiieeee e iiiiie ceeeesiiiieeee e e e ssiiarreeee e e e 1
21-3........... JCDC2-21-3.......ccc.. CONTACTON . MA-09 ... 1
21-4........ JCDC2-21-4.............. Remote CoNtrol RECEIVET ........cuviiiiiiiiiiiee et e 1
21-5.......... JCDC2-21-5.............. (O] (oW1 0 =70 -1 o S UR SO 1
21-6........... JCDC2-21-6.............. Overload ProteCtor...........uueirveieeinieees e 20A . 1
21-7 e JCDC2-21-7 .............. Push Button Switch - Start..........ccccceeeeeviiciiiieeneeenn, (1T o R 1
21-8........... JCDC2-21-8.............. Emergency Stop SWILCH........coiiiiiiiiiiic s i 1
21-9........... 5711571 ..., Mach Screw, Pan HD, Phillips........c.cccccoeviviiinnneenn. 3/16" X 1/4" oo 1
22 i, JCDC2-22 .......cuveee. Mach Screw, Pan HD, Phillips w/ Flange ................ 3/16" X 3/8" ... 2
22-1........... 5513357 i, Mach Screw, Pan HD, Phillips..........cccccovvvvivinnneenn. 3/16”" X 3/8" oo 2
23 e, JCDC2-23 ..o Power Cord W/ 6-15P Plug.........cevevrivererinieieniienenn 14AWG X 3C....oveeneee. 1
24 JCDC2-24 ... ][0 L= O T o H USRI 2
25 i, JCDC2-25 .......cuveeee. Connecting Square Tube..........cccccevviiiiiiienie s 19X 19 X 620 .....cccueeeee 1
26 .. JCDC1.5-25 .............. Hex Flange Head SCrew........cccccovvvvvveeeeeeeecciiieeennn. 5/16" X /2" ... 6
27 i, JCDC1.5-24 .............. TUDE PIUG v 19X 19 i, 2
28 i JCDC2-28 ......ccouueen. 5] = 1 [0 B =Y i SO 1
29 i, JCDC2-29 .....ceevveen. StAN-RIGNT. ... s e 1
30 .. JCDC2-30 .....ceevvrnen. B .ttt e e 1
1CH A JCDC2-31 ......ccuvvveee. TUDE PIUG ...t 60 X30..cccciiiiireeeeeiiins 4
32 i, JCDC2-32 ....cevevvnen. SWIVEl CASEEN ..o Dia. 27 . 4
ICIC T JCDC2-33 ......ccvvveeee. Bag Frame Kit (#33-1 thru 33-5).....ccuuviiiieiiiiiiiiiiies cvviiiieer e s sivneeee e e e e sninnns 1
33-1........... JCDC2-33-1.............. HOOD e BT oo 2
332 JCDC2-33-2.....cccuueueee Bag Frame Support - LONG .......eevvveveeevieieeeeeeiieeennenns 411111 4
33-3.. TS-1540011 .............. HEX NUL. ..o M3 16
334........... JWL1221VS-314....... Mach Screw, Pan HD, Phillips..........cccccoevviiinnnnennn. M3X12. i, 16
335 JCDC2-33-5............... Bag Frame Support -Short .........oooccvvveevieeiniiiiiieenn, TMM i 4
34 .. 717521 ., Drum Collection Bag for JCDC-2 (pkg. of 5)............ 780 x 830 /mm.............. 1
35 e, JCDC2-35 .......ccevveee. ClAMP e Dia. 500 mm ................. 1
36 .. TS-0050111 .............. HEX CaP SCrEW....vvvveieeeiiiiiiieee e cireee e 14" x 2-1/2" ..o 1
Y A JCDC2-37 ... CYCIONE FUNNEL... .ttt e cee e e s e e e 1
ICTS I JCDC1.5-36 .............. Quick Lever Assembly (# 38-1 thru 38-4) ........ccccvve veveiiiiiiiieeeee e 2
38-1........... JCDC1.5-36-1........... QUICK LBVET ...ttt et e e e e e e e e 2



Index No Part No Description Size Qty

38-2........... 5712561 ... Mach Screw, Pan HD, PhillipS..........ccccceevuiiiienneenn. M5 X8, 8
38-3...e. TS-0570031 .............. HEX NUL...ceiiiiii e 3187 2
384.......... JCDC1.5-364 ........... LONG NUL ..o 3/87 e, 2
39 i, JCDC2-39 .....oeevvrnen. FOAM TaPE ...ovvieiieie e L970 x W30 x T1 /mm...2
40.............. JCDC2-40 ................. HOSE Clamp ... 12-1/2" oo, 2
41 ... JCDC2-41 ... HOSE . Dia. 12" ..o 1
42 . JCDC2-42 ................. (7] 11=Tox 10T TN 10 4 18 I o RO OPPPRUR 1
43A............ JCDC2-43A............... Collection Drum Assembly (#43 thru 49) ........ooccciie voveiiiiii e 1
43 ... JCDC2-43 ..........u.e... (070 ]11=Tox 10 o TN 0 4 PSSRSO 1
44 ............. JCDC1.5-42 .............. HANAIE < ee e 2
45 . TS-081F031.............. Mach Screw, Flat HD, Phillips .........ccccooviiivivieeneenn. A" X L2 ..o 4
46 .............. JCDC15-44 .............. RUBDEI PAd ...t e 1
A7 e JCDC1.5-45.............. PC PIALE. ...ttt —eee et e e e e e e e e aaeaaeaae 1
48 ... JCDC1.5-46 .............. RIVEL. .. A-2 i 12
49 .............. JCDC2-49 ................. SWIVEl CaSEEI ...t Dia. 27 e 4
50 .. SWSS3-201 .............. Open ENd WIeNCh .......ccooviiiiiiiiieei e 10-12 MM, 1
51 .. TS-152705 ................ HEX WIENCN ....ociiiiiiii e AMM . 1
52 i, TS-152706 ................ HEX WIENCN ... BMM i 1
53 i, JCDC2-53 ..o Remote Control TransSmitter ..........ccccevevviveeernnnnen. RFE e 1
.................................................... Battery (not shown).........ccccceeeeeeeviiiiiiieeee i AAA, L5V el 2
54 i TS-0561021 .............. HEX NUL. ..o B5I16". i 6
55 i, JCDC2-55 .......cuvveee. GASKEL ...ttt ettt e —eea e e e e e e ——aaaaaaan 1
56 .. JCDC1.5-52 .............. Socket HD BUtON SCreW .........ccovcvveeerirereerireneennee M5 X6 ..o 6
57 i, TS-0270071 .............. SOCKEL SEE SCrEW ..vvvveeeeeeiiiiiiiee e 5/16" X 3/4”.....ovvvieeeeann 1
58 .. TS-0561021 .............. HEX NUL. ..o B5I16". i 1
59A....... JCDC1.5-55A............ Handle Assembly (#59,60,61) .........uvviiieeiiiiiiiiiieeees criiviree e e e e ssirreee e e e e e neenes 1
59 i JCDC1.5-55.............. HANAIE Lo ee e 1
60 ..o JCDC1.5-56 .............. (14T o SRRSO 1
61 .. JCDC1.5-57 ... PIPE PIUQ ..ttt e 1
62 ... JCDC2-62 ................. (O 10115 (= gl 1 (=T PSSRSO 1
63 .. JCDC1.5-59............... FOAM TaPE ..oeieieeee e L1265 x W20 x T3 /mm.1
64 ...ccuveeen. JCDC1.5-60 .............. (01 =0 o1 o TS UR PRSP 1
65 ... 717511 ., Canister Collection Bag for JCDC (pkg. of 5)........... 600 x 500 /mm............... 1
66...cccveen.. JCDC1.5-62 .............. Oil-Retaining BEAING ........occuvviiiiiee ettt e e e s eiies cvaeessaiiiireeeseesssnaneeeaeeeanas 2
67 oo JCDC1.5-63 .............. BEANNG COVET ...uiiiiiiii ittt bttt e e e e e e e e e s nnebbaeeeeas 2
68 ..o JCDC2-68 .......ccuvee... ST s e 1
(1S I JCDC1.5-65.............. FIXING BIOCK .ttt e e rie e e 1
70A............ JCDC2-70A............... Scraper Assembly (#56,66 thru 74) .........cevieeiiiiiiiis eeeesisiieee e crriree e 1
70 .. JCDC1.5-66 .............. Yol = 0[] T T PPN 3
71 TS-1481031 .............. HEX Cap SCrEW......uvveeieieieeereieeeeneeeeeeeeeeenneennnnnnennnenes M5 X 12 . 8
T2 i, TS-1540031 .............. HEX NUL. .. M5 e 6
T3 e, JCDC1.5-69 .............. Y0 o] oo ] g 4 = F= 1 {= PSSRSO 1
T4 ... 5712561 ......ccvveeeennn. Mach Screw, Pan HD, PhillipS......cccccccoovviviiiennennnn. M5 X 8. 4
75 e, JCDC1.5-71 .............. Hex Flange Head SCrew.......ccccccoevvvvvieeeeeeecciiiieennn A" X 12", 4
76 e, 5711571 ..o, Mach Screw, Pan HD, Phillips.........ccccccooniiiinninnnnen. /16" X L/4" ..o 1
7 e, JCDC1.5-74 .............. FOaM TaPE ..ovvieeeee e L490 x W30 x T1 /mm...1
75 i, LM000057-2............... ID LADEI ...t e e 1
76 i LM000058-2.............. MOTOE LADEL ...t e e 1
T i, LM000059.................. ROtAtION LADE! ..vvviiieeiiciiiecce ettt e e 1
78 i, LMO0O0068.................. Caution Label — DO NOt SEEP ..ccvveiviiiiiiiiiiie e iciiiiiies ceviniiiie e e 1
A4S LMOOO0O067 ................. Warning LabEl ........ooooiiiiiiiec e o 1
.................. JCDC2-HP ................ Hardware Package (see sect. 5.2 for contents) ...... ccccccceevviiiriieeneeenniiiiieeenn.

Some parts are listed for reference only and may not be available individually.

17



	2HP Mobile Cyclone Dust Collector
	1.0 IMPORTANT SAFETY INSTRUCTIONS
	2.0 About this manual
	3.0 Table of contents
	4.0 Specifications
	5.0 Setup and assembly
	5.1 Unpacking and cleanup
	5.2 Shipping contents – JCDC-2
	5.3 Tools required for assembly
	5.4 Assembly

	6.0 Electrical connections
	6.1 GROUNDING INSTRUCTIONS
	6.2 Extension cords

	7.0 Operations
	7.1 Start/stop
	7.2 Remote controller
	7.2.1 Remote controller reset

	7.3 Dust hose connection

	8.0 User-maintenance
	8.1 Thermal overload reset
	8.2 Cleaning and bag inspection
	8.3 Motor inspection
	8.4 Additional servicing

	9.0 Optional accessories
	10.0 Troubleshooting the JCDC-2
	10.1 Electrical and motor problems
	10.2 Performance problems

	11.0 Replacement Parts
	11.1.1 JCDC-2 Cyclone Dust Collector – Exploded View
	11.1.2 JCDC-2 Cyclone Dust Collector – Parts List

	12.0 Electrical Connections – JCDC-2
	13.0 Warranty and service



